o2 & oFA] 1t - 8x2 — 99 )l=7f ofd A2
® x-3 @ x+3
® x2+1 @x2+9

® x*+3x2+x+3
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@ xXPx+3)+x+3=(x2+1)(x+3)
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ok A B A A AT E ot

2x2-3x+1, 3x2=x-2, ¥*+3x-4

@x—l @ 2x-1 ® x-2
@ x+3 ® x+1

B

232 -3x+1=(2x-1)(x—-1)
3x2—x-2=(3x+2)(x-1)
2 4+3x—-4=(x+4) (x-1)
wjebs] Hof Bt 1 - 10l




Al 7He] A 3 +ax+ b, x3 +cx® +a, ex* +bx+4, 9 F

Sttt x— 19 W, a+ b+ c & FA2?

f)=x*+ax+b—> f1)=1+a+b=0--Q
g)=x*+ex®+a—- gl)=1+c+a=0--©
h(x) =cx® +bx+4— h(l)=c+b+4=0--©
O+O+©ONAH 2(a+b+c)+6=0
a+b+c=-3
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1+i 1-1
@ 1 @ 2 @3 @ 4 ® 5
3+i a-i _(B+)(1-d+(1+i)a=i)
1+i 1-i (1+4)(1-1)
_4-2i4(a+ 1)+ (a-1)i
B 2
:a—|—5+(a—3)i
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x=1+ V2iy=1-v2i 4 o, »* +y* o] & F5HA?

@ -1 @ 1 @—2 @ 2 © -3

=14 V22 =14+2V2i-2=-1+2V2i
V=(1-v2)2=1-2V2i-2=-1-22i
. x2+y2:_2

P4yt =(x+y)?-2xy=22-2x3=-2




DO 1+ @)2+i ® 2+2i

z=a+bi & stHz=a-bi o|EZ
(1-2i)(a+bi)—i(a—bi)=a+bi—2ai+2b—ai-b
=(a+b)+ (-3a+b)i=3-5i

et a4+ b=3,-3a+b=-5°|2& AYslo] ZH
a=2,b=1

wbA] z =2+ ot




8. 11-133+433-132+4+33-13+119 Q157 otd AS 12H?

@3 @ 7 @11  @u  ©2

B

11 =a, 13 =5 2t 5HH
a-b®+ 3ab® + 3ab + a
=a(b® +3b* +3b+1)
=a(b+1)2=11-143
=11x22x7
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9.

@ 4 ® 5 @)6 ®7

@ 3

L f(2)+g(2)=1+5=6
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11. A% x o thoto] 2P 13— - V=0 + V=16 2 a+bi B2 1}
el o a+ b 9] B4 FolH?

@ -5 @2x—4 ® 2x
@ 2x-5 ® 0

B ‘
(FA) = (x-2)2-(3-x)2-3i+4i
=2x-5+1i
La=2x-5,b=1
La+b=2x—-4




12, xof 3 DAY (@2 +3)x+1 = alde+ 1) ) A7t 750 B
LPE Ry

®0  @n ® 2 @ 3 ® 4

(@®>+3-4da)x=a-1
B xol Hish ddstd
a?-4a+3=0,a-1=0

TeTa=1




13. WAA x4 5/ =18 T=shes 1 @59 27

© -9 @—10 ®-1 ®-12 6 -13

[x+5 =1
= x+5=1F=Ex+5=-1




